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Circle the most accurate answer for each of the following questions

Q.1.
The maximum value of collector current in a biased transistor is:
(a)  βDC,
(b)  IC(sat),
(c)  greater than IC(sat),
(d)  IE - IB.
Q.2.
Ideally, a dc load line is a straight line drawn on the collector characteristic curves between: 

(a) the Q-point and cutoff,
(b) the Q-point and saturation,    (c) VCE(cutoff) IC(sat),  (d) IC = 0 and IC/ βDC.

Q.3.
If a sinusoidal voltage is applied to the base of a biased npn transistor and the resulting sinusoidal collector voltage is clipped near zero volts, the transistor is:
(a) being driven into saturation,
   (b) being driven into cutoff,
 (c) operating nonlinearly, (d) answers (a) and (c),

   (e) answers (b) and (c).
Q.4.
In a certain voltage-divider biased npn transistor, VB is 2.95 V. The dc emitter voltage is approximately:
(a) 2.25V,
 (b) 2.95V,
   (c) 3.65V,

   (d) 0.7V.
Q.5.
The disadvantage of base bias is that:
(a)  it is very complex,

(b) it produces low gain,

(c) it is too beta dependent,

(d)  it produces high leakage current.
Q.6.
Collector-feedback bias is:
(a) based on the principle of positive feedback,
(b) based on beta multiplication,
(c) based on the principle of negative feedback,
(d) not very stable.

Q.7.
In a voltage-divider biased npn transistor, if the upper voltage-divider resistor (the connected to VCC) opens:
(a) the transistor goes into cutoff,
(b) the transistor goes into saturation,
(c) maximum,
(d) the transistor burns out,
(e) the supply voltage is too high.

Q.8.
In a voltage-divider biased npn transistor, if the lower voltage-divider resistor (the one connected to ground) opens:
(a) the transistor is not affected,
(b) the transistor may be driven into cutoff,

(c) the transistor may be driven into saturation,
(d) the collector current will decrease.
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